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Wenn"man"die"Kantengewichte"als""Weglänge""interpre7ert,"dann"wäre"der"kürzeste"

Pfad"zwischen"zwei"Knoten"u"und"v"der"Pfad"zwischen"

beiden"Knoten,"der"die"geringste"Wegstrecke"aufweist."

In"der"Praxis"können"die"Kantengewichte"für"die"verschiedensten"Kostenfaktoren"

stehen"(GeldH/Zeitkosten,"Wartezeiten,"etc.)."
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Kürzeste"Pfade"sind"i.d.R."nicht"eindeu7g."Beispiel"hier"wieder:"Graph"mit"homogenen"

Kantengewichten."
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Dieser"Satz"wird"benutzt"für"den"Korrektheitsbeweis"des"Algorithmus"von"Dijkstra."

Fazit:"Alle"Teilpfade"eines"kürzesten"Pfades"haben"auch"minimales"Gewicht."
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Oben"Dijkstra,"unten"FloydHWarshall"
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Ini7ialisierung"des"Algorithmus"

13"

Relaxa7on"bedeutet,"dass"man"zu"einem"bes7mmten"Zeitpunkt"einen"Pfad"zu"einem"

bereits"eroberten"Knoten"finden"kann,"

der"kürzer"ist,"als"der"vorher"bes7mmte."In"diesem"Falle"wird"der"Pfad"und"die"

Oberschranke"auf"den"neuen"Wert"gesetzt."
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Implemen7erung"der"Relaxa7on."Sobald"ein"Pfad"gefunden"werden"kann,"der"kürzer"

ist,"als"die"aktuell"gül7ge"obere"Schranke,"

dann"wird"das"Gesamtgewicht"(eben"diese"obere"Schranke)"auf"den"neu"gefundenen"

Wert"gesetzt."
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Ein"Pfad,"der"einen"posi7v"gewichteten"Zyklus"enthält,"kann"nicht"der"kürzeste"Pfad"

sein."

Manchmal"führen"nega7ve"Gewichte"zu"unlösbaren"Konfigura7onen."

In"dem"obigen"Falle"wäre"das"Suchen"nach"dem"kürzesten"Pfad"sinnlos,"da"jeder"

Zyklus"zwischen"den"Knoten"

a,"b"und"c"die"Pfadlänge"verringern"würde."
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Bei"Dijkstra"wählt"man"einen"QuellHKnoten"und"berechnet"den"kürzesten"Pfad"zu"allen"

anderen"Knoten."
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Der"Aucau"ist"ähnlich"zu"Prims"Algorithmus."
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0"+"5"<"inf"und"0"+"10"<"inf,"deshalb"werden"beide"Nachbarn"erobert."
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Man"wählt"nun"den"kürzesten"Pfad,"also"den,"der"zum"Knoten"mit"dem"Wert"5"führt."
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Man"macht"jetzt"überall"ein"Update."Bei"Prims"Algorithmus"würde"der"rechte"untere"

Knoten"nun"den"Wert"2"erhalten."Bei"Dijkstra"

zählt"aber"der"bereits""gegangene""Pfad."
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Nun"wählt"man"wieder"den"Pfad"mit"dem"geringsten"Gewicht"(von"allen"

Schnihkanten)."
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Schwarz:"Die"bereits"eroberten"Knoten."Weiß:"Knoten,"die"im"nächsten"Schrih"erobert"

werden"können."
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Dijkstra"würde"u"vor"y"auswählen,"weil"d[u]"<="d[y]."

D.h.,"der"Algorithmus"ist"korrekt,"weil"in"jedem"Relaxa7onsschrih"des"Knoten"

hinzugefügt"wird,"der"durch"

den"kürzesten"Pfad"zugänglich"ist."
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FloydHWahrshall:"Berechne"nicht"nur"von"einem"Startknoten"die"Distanz"zu"allen"

anderen,"sondern"von"jedem"zu"jedem"Knoten."
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Die"Knoten"werden"nun"durchnummeriert"und"die"Kantengewichte"in"einer"einzigen"

Adjazenzmatrix"gespeichert."

Beachte,"dass"diese"Matrix"bei"gerichteten"Graphen"i.d.R."nicht"symmetrisch"ist."
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D.h.,"P_n"wäre"die"Menge"ALLER"Pfade"im"Graphen."

In"P_2"sind"alle"Pfade"drin,"die"als"Zwischenknoten"nur"die"Knoten"1"und"2"beinhalten,"

oder"direkt"zwei"Knoten"verbinden"(also"alle"Pfade"der"Länge"1)."
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Idee:"Der"op7male"Pfade"in"P_k"ergibt"sich"aus"op7malen"Pfaden"aus"P_(kH1)."
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P_0"="Nur"direkte"Verbindungen"zwischen"zwei"Knoten,"d.h."d_0[i,j]"ist"einfach"unsere"

Adjazenzmatrix."
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k"kommt"in"Pfad"zwischen"i"und"j"vor."Dann"setzt"sich"der"kürzeste"Pfad"von"i"nach"j"

als"die"Summe"des"kürzesten"Pfades"von"i"nach"k"und"dem"von"k"nach"j"zusammen."

Diese"beiden"Teilpfade"sind"zu"diesem"Zeitpunkt"bereits"bekannt,"weil"weder"der"Pfad"

von"i"nach"k"nach"der"von"k"nach"j"den"Knoten"k"beinhaltet"und"wir"in"aufsteigender"

Reihenfolge"vorgehen."
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Ini7alwert"ist"unendlich,"falls"es"keine"direkte"Verbindung"zwischen"Knoten"i"und"j"

gibt."

Ansonsten"wird"der"Wert"des"Knatengewichts"zum"Ini7alisieren"verwendet."
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Hier"betrachten"wir"alle"Pfade,"die"als"Zwischenknoten"entweder"Knoten"1"haben,"

oder"eben"zwei"Knoten"direkt"miteinander"verbinden"(D_0)."

In"P_k"werden"dann"jeweils"alle"Vorgängerknoten"gespeichert."
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Man"hähe"auch"Dijkstra"auf"jeden"Knoten"anwenden"können."Ein"Vergleich"mit"dem"

Aufwand"für"Dijkstra"ergibt:"

"

Dijkstra"O(E"log"V)"<H>"FloydHWarshall"O(V^3)."

"

Das"heißt,"ob"die"|V|Hfache"Anwedung"von"Dijkstra"schneller"ist,"hängt"von"der"

Anzahl"der"Kanten"im"Graph"ab."

E"kann"bis"zu"V^2"viele"Kanten"enthalten."In"dem"Falle"hähen"wir"einen"Aufwand"von"

O("V^3"log"V)."
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E*"enthält"Kanten"für"alle"Knotenpaare,"zwischen"denen"ein"Pfad"exis7ert."
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Man"kann"reelle"Arithme7k"durch"Boolsche"Arithme7k"ersetzen,"weil"man"hier"nicht"

an"den"Gewichten,"sondern"nur"an"der"Existenz"eines"Pfades"interessiert"ist."
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